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Puzzle 1 (Medium, difficulty rating 0.48)

w|a|ml~|ofslojol—|  _|o|a|o|m|w|~lst|o|—|  _|~|c|o]w|m|olx|o| =] _|@|w|~]o < | —]o|©|w
3 3 z

—|~|o]o|o|w]a|t|m] S| |w]o|o|—|o|n|m]  Slo|m|<t|—[—|o]|o|w|~]  Slo|o|—]|—|m|wo]wv|| <
o ol

<t|o|o|m|—|~|w|o[—]  Sl—|m|o|n| < |o|o|=[w]  -S]o|—|w]o|<|~|o|=[m]  -Slo|s|~|w]o|o|m|—[—
o i\ o

o|o|~|o|st|ml—|afo] S|l olw|a|ol=|—lofl Sl | o] (ool Heo|—|m]o|w|~|~|<|©
=] =} =]

|| ol—|o| ] |[m]| o %513796842. %167395248 %794163285
© © ©

o|<t|—|w|c| o]~ A|o[=|o[—|x|»|w|o] Glw|o|o|n|olstm|of=]  Glo|ofwlo—| x| o™
(7] j . j-.
© © ©

~|oo|alst o —|m[o|o]  wo|~|—|<|©|w|n|m|o]  I|<|~[—]ofw|o|m|cjo]  I]|~|©o]m|o|w]o| [
N ™ <t

o|m|wlc|~|o|oo|—| < olm|w|a]or|—|o]—|w|< olo|o|a]<t|=[m]wo|—|o ol —|m|o]o|n|—]< ||
X X X

o|—|<t|o|m| |~ zl®lel=—|e|Nele=]  Zlelelelol == 2ol e | ee| e~




